8893005 ExTD L

PREMIUM




order No./ obj.

set order No./

description popis avks eilo dilu obj. &islo sady
1 cable kabel 1
2 right and left handle prava a leva rukojet 1
3 cable platen svornik kabelu 1
4 screw ST4x16 Sroub ST4x16 9
5 switch spinac 1
6 0.22uF capacitance 0.22uF kondenzator 1
7 cable sheath kabelova prichodka 1
8 screw ST4x25 Sroub ST4x25 2
9 housing cover celni kryt motoru 1
10 Brush rack shatterproof rubber antivibra¢ni guma 2
11 Machine barrels (long) skelet pily 1
12 The stator assembly sestava statoru 1
13 screw ST4x60 Sroub ST4x60 2
14 ring fender proti prachova krytka 1
15 Brush holder drzék kartace 2
16 Carbon brush uhliky 2 8893005C
17 : The rotor assembly sestava rotoru 1
18 Rubber column gumovy sloupek 1
19 bolt setting depth adjustment screw Sroub nastaveni hloubky fezu 1
20 The depth of the clamping knob pruzina aretacniho koliku 1
21 Shaft lock spring 4x24 zarazka 4x24 1
22 spindle lock aretacni kolik vietene 1
23 Aluminum head assembly kryt fezného kotouce 1
24 Thestopping pad zastavujici podlozka 1
25 screw M6x18 Sroub M6x18 1
27 screw ST4x20 Sroub ST4x20 4
28 Gear assembly sestava ozubeného kola 1
29 screw M4*10 Sroub M4*10 4
30 Drag spring tdhnouci pruzina 1
32 | The movable shield assembly bezpecnostni kryt fezného kotouce 1
33 | The movable shield wrench tlacitko bezpecnostniho krytu 1
34 Bearing plate priruba 1
35  screw M4*8 sroub M4*8 3
36 lower flange zadni ptiruba kotouce 1
37 Saw 160 fezny kotou¢ 160 1
38 upper flange predni pfiruba kotouce 1
39 Saw blade clamping washer podlozka k upinani pilového listu 1
40 screw M8*14 Sroub M8*14 1
41 screw M5%12 Sroub M5*12 3
42 | The connecting pin spojovaci kolik 1
43 angle clamping knob 2 kiidlova matice 1

£
N

screw 5.5¥M5%12

Sroub 5.5*M5%12




order No./ obj.

set order No./

description popis avks o dily obj. &islo sady
45 Shaftring 7 krouzek 7 1
46  base assembly sestava zakladny 1
47 Guide ruler clamping knob upinaci sroub voditka 1
48 Guide ruler assembly voditko 1
49 inner six angle wrench S=6 imbusovy kli¢ ¢.6 1
50  wheel key kli¢ kotouce 1
51 washer podlozka 1
52 depth of the clamping nut matice 1
53 depth of the wrench tlacitko 1
54 | depth of the clamping screw sroub 1
55 Open ring 9 pojistny tfrmenovy krouzek 2
56 pin kolik 1
57 nut matice 2
58 screw Sroub 2
59 cover krytka 1
60 screw ST4x10 Sroub ST4x10 1




